o2 5 2% +y% + 2xy - 2x — 2y 9] A7} ofd A29

@ x+y @ —x-y ® x+y-2

@ x-y ® 2x+2y



O+l
Y = A7t A

@ x24+x+1
@ x*+ V3x-1

=



3. &+ab+a-b-29 252 A}

=

A2

®a-b-2 @ a+b-2 ® a+b+2

@ a+1 ® b+1



4. 1999709 FFA k2 —2x -1, x2 —2x -2, -+, x2 —2x— 1999 Sl A
A7t e A0 wo g s B A2 BT 2 U7

@® 437} @ 447} @ 4571 @ 467N ® 477



5. Al WS A a, b, coll ot [a, b, ¢] = (a—b)(a-c)e & i,
la, b, c] +[b, ¢, a] + [c, a, b] = 0°]WA [a, b, ] 2] FF27

Do @1 ® 2 @ 3 ® 4



6.  (4+3)(4%+3%)(4* +3%)(4® + 3%) 2 7hAs] SFH?

@ 48_|_38 @ 415_315 @ 415_,'_315

@ 416 _ 316 @ 416 +316






D% F() = 2+ prt g g = HESE AR 2E Aol
F(V241) =0, g(V24+1) =2+ V20It}. o] W], ¢(x) & f(x) & W
o222

@ x+1 @ x-1 ® —x+1

@ —x-1 ® 2x+1



9. oA f(x)E A% x-3,x+12 he U= 23, £(1) = 0%

f4) _n o A)o o m+no Zr& s
TE = % 02 A2 0T O] € 9] 9 FEHAH

D L
3%




10.

(x+1)(x+2)(x+3)(x +4) -k 7} o]2FA] o] Al F
2o, A kS F& FohH?

® -1 @1 ® 0 @ 2

1

oz o]
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2

1

__OH

_q]

Ho

= Al 2] AlA

o, °]

Qo]
=



12.

A7 o] A

H O] Z0] g, b, c Aol a®+a?b—-ac? +ab®>+b3—bc? =0
o] #AZT A

Shehel o] AH71EL o] | A7HE 71



